AIR CYLINDER/WITH LOCK MECHANISM

J1OL series

420, 425, ¢32, ¢40
ORDERING INSTRUCTIONS

mEn

b

T

T

(DMagnet @Mounting {1Bracket at rod end
G Built-in magnet Cylipder with switch N Nose No symbol| No brackst
available L | Both-foot Y | With rod end clevis
- LS Single foot I With rod end eye
@Lock position A | Rod side flange (Note) Y : Provided with pin
H | Head side B | Head side flange
O R__] Rod side R__| Rod side trunnion (Bracket
- H | Head side trunnion No symiol] No bracket
@Head oover/lrod cover shape C | Eye Basic tyoe) B | with bracket
No symball Basic type (Note) LS : 420, ¢ 25 alone {Note) Models with bracket : R,
ND Boss cut type Hand C alcne
NB_ | Axial port position @Type of switch @Special shape of rod end
EB Bottom cover mount No symbol| No switch
INo symbol| Standard |
EF Front cover mount AF AX101 (Note) Refer to Pages 37 and 38
(Note) Refer to “Combination of head AG AX105 DC5~30V )
cover/rod cover shape and AH | Axi11 ACE~120V
mounting” on Page 75. Al AX115
@Action AE | AX125 | REETORY, | S
| 2 | Double-acting, singlerod_ | AR | AXTIA | ACS~120V | 3
AL | AX11B | DC5~80V_ | gQ
&Bore (mm) JA ZC201A | ACB5~115V| &
20 ?5 20 JB ZCZO'I B DCS""‘QSV
> o5 JC | ZC205A -
32 232 Jb_| zoz0sm | DC10~28Y
40 440 S | SR405 | ACB0~220V
BE AX201
®Stroke {mm) S:_:' %g? c
[#]
Refer to Standard Strokes (Page 75). 5 AX025 DC5~30V %
@Dustproof cover CE | AX211 o
No symbol] No dustproof cover provided (Standard) CF__| AX215 7
J__ | With bellows (Nyton tarpaufin) )| ZO2BO0A | g oay |2
JN With bellows (Chloropreng) JK ZC2308 W
JK__| With bellows (CONEX) JL | ZC258A | oot aov
CONEX : Registered trademark of Teifin Ltd. JM Z02538
@Number of switch
No symbol| No switch
2 With 2 units
1 With 1 unit
Model No. of Mounting Bracket Model No. of Packing Kit
Bore (mm) ¢ 20 $25 ¢ 32 ¢ 40 Bore {mm) Packing kit
Foot mounting J120-L  [J120-L |J132-L |J140-L $ 20 J120-PS
Flange mounting J120-A [J120-A  |J132-A |J140-A 425 J125-PS
Trunnion mounting J120-R [J120-R |J132-R |J140-R $32 J132-PS
Bracket ForC J120-BA [J120-BA [J132-BA |J140-BA ¢ 40 J140-PS
For R, H J120-BC [J120-BC |132-BC|J140-BC {Note) Packing kit : Rod packing alone

KURODA

74




AIR CYLINDER/WITH LOCK MECHANISM.J-‘[-QL series
420, ¢25, ¢32, ¢40

Each air cylinder is equipped with a SPECIFICATIONS

magnet. - — . ,
Action Unit Double-acting

When compressed ajr discharges at the Flui N - -

stroke and, alocking mechanism is actuated uid on-lubricated air

to lock the piston, thereby preventing the Pressure range MPa . 0.2~1

cylinder from dropping and also preventing a

trouble when restarting operation. Proof pressure MPa 15
Temperature range T —10~70
Piston speed range mmy/s 20~700
Cushion Damper cushion

Below 250 : *}°

Piston stroke allowance mm 4
261~900: *y

Lock position mim Head side, rod side

Piston travel when locked ¢20, $25:Below1 432, $40:Below 1.5
Basic type, Both-foot, Single foot, Rod-side

Mounting flange, Head-side flange, Rod side trunnion,

Head-side trunnion, Cover mount

(Note) *When setting a switch at the Intermediate position, set the maximum cylinder
speed to less than 300 mm/s by reason of the relation with the response
spead of relays efc.

*Use the cylinder within a temperature range where it is not frozen.

STANDARD STROKE {Unit : mm)
Standard stroke
Bore Max, stroke
15 | 256 [ 80 | 60 | 75 | 100 {125 | 160 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 50C
$20 cClo|lOojOo|OojCc|lOojCcjO|lC|—|—=-|—-]|= — - 900
$25 oC|lorO0o 0O |QC|Oo|lOo|O|lC|lO|OC|—-|—=-|—-1|~- 900
$32 olojojo|o|joc|lo|jCc|Oo|lCc|]Oo|jO|lO|lO|— | - 900
$ 40 Clo o000 |C|O|C|O|C|O|lO|lO|O|O]|O 900
HOLDING POWER  (unit: N
Bore (mm) Holding power
$20 220
$25 330
$32 550
¢ 40 860
COMBINATION OF HEAD COVER/ROD COVER SHAPE AND MOUNTING
' Mounting
Shape of - - - - -
Lock head cover/ Nose Both-foot | Single foot | Red-side | Head-side | Rod-side | Head-side Eye
position rod cover flange flange trunnion trunnion | {Basic type)
/N /L /LS /A /B /R M /C
Basic type — O] Ja O O 0 O Q
Rod Boss cut type/ND O — PaX O — O — —
side Axial port position/NB O - A O - O - -
Basic type — O A @] O O O O
Boss cut type/ND O — A O — O - —
Axial port position/NB Q - Fa O - O - -
Head
side Cover mounit O _ _ _ _ _ - _
Bottom mounting type/EB
Cover mount O - _ _ — — _ —
Front mounting type/EF

O : Matchable combination A : Matchable for 420, ¢ 25

KURODA



AIR CYLINDER/WITH LOCK MECHANISM J1OL series

MODEL WITH SWITC H/For detaited specifications, handling precautions and mounting method of switches, refer to Page 80.

e

sAX Type Switch
Cord type

oZC

Connector type

Type Switch

*SR Type Switch

[AF] AX101 Not brovided 1.5m
vIe
O [AG]AX105 | DC5~30V P LED 5m
. (REd LED llghts 0.3 mm2 2-core
[AH]AX111 | AC5~120V | DC:5~40mA | DC:1.5W orovided | UpalON) | oo™ ; 1.5m
) rovide - g4 mm
[AT]AX115 . AC:5~20mA | AC:2VA Cord direction : Axial |_5™
DC5~50
AX125 Not provided, Not provided 5m
5 AC5~120V
= |[AK]AX11A | AC5~120V| 5~20mA 2VA Provided | |ED (Red LED |4-pin connector 0.5m
T [[AL]AX11B | DC5~30V | 5~40mA 1.5W lights up at ON.) | Cord direction : Axial | 0.5m
{0 . .
T |[JA]ZC201A|ACB5~115V| AC: 2~25mA Not provided|  Not provided im M:”’ature
_ Ot provide: Ol provige
[JB]ZC201B| DC5~28V |DC:0.1~40mA P P g-g mg"Q 2-core, sm | oo
¢ 3 mm
[4G] 202054 DGC10~28V | DC:5~40mA - Not provi LED (Red LED | 5orq girection : Axial |
provided| |,
ZC2058 lights up at ON.) 3m
. ) Neon lamp (Red | 0.5 mm?® Z-core, OD ¢ 6 mm
[S]SR405 |ACB0~220V| 2~300mA v ded | '
m BOVA | Provided iohts up at OFF)| Gord directon : Al om
AX201 LED (Red LED \ 1.5m
[BF] AX205 lights up at ON,) | 0.3 mm* 2-cors, 5m
i | DC5~30V | 5~40mA — Provided - OD ¢4 mm s
5 LED (Dualilight : | 5o direction : Axial |2
O = [CF] AX215 Red/green} 5m
7] )
g [BH] Ax221 DC5~30V Ml\?;Nzggé?\A _ Provided | LED {Red LED |03mm? 3-core, 0D 44 mm | 1.5m H‘_’%ﬂt“’e relay
% |[BJ]AX225 collector output lights up at OM.) | Gord direction : Axial 5m |G cirouit
o
5 |[JJ]Z2C230A _ . LED (Lights | 0.2mm? 2-core, ODg3mm| 1M
® [EK]zc2308 Pe10=28V]  5~40mA Provided up at ON.) | Cord direction : Axial 3m M]|n|at_ure
relay
JL|ZC253A - 2 3. 1m
DC4.5~28Y) MAX100mA | — Provided | oD (Honts 102 mm 3-core, 0D¢3 mm PLC
ZG253B upat ON.) | Cord direstion : Axial 3m

(Note) -When using inductive load {relay etc.} in a switch without a protective circuit, be sure to fit a protective circuit (SK-100} to the load.
*AX type switch can be mounted on other type than above-mentioned. Refer to Specifications for Switches at the end of this

catalog.

MINIMUM STROKE FOR AIR CYLINDER WITH SWITCH

(Unit : mm)
Number of mounted switch
Bore With 1 unit With 2 units
. Reed switch Solid-state switch Reed switch Solid-state switch
AX ZC201 | ZC205 SR AX zc AX G SR AX Zc
#20, $25 10 10 15 15 10 10 15 15 35 20 10
$32, 440 10 :

KURODA

76




77

AIR CYLINDER/WITH LOCK MECHANISM J1(OL series

CONSTRUCTIONS

Rod side lock

\

)

Head side lock

1

D

- g

\

i

IS
ANy

W S

F

]

J

3

0 %iv T &, )
¥ The above drawing is basic type cylinder,

PARTS LIST
No. Description Material No. Description Material
@ | Gylinder tube Stainless steel O-ring for piston rod Nitryl rubber
(@ | Piston rod Carbon stee! for maching structure {Hard chromium plating)| @® | Cushion pad Urethane rubber
@ | Rod cover Aluminium alloy Snap ring Spring steel
@ |Hsad cover Aluminium alloy @ | Rod end nut Rolled stesl for general structure
® |Piston A Aluminium alloy Nose nut Rolled stesl for general structure
® |Piston B Aluminium alloy {(Abrasicn-resistant surface) Piston nut (with lock) | Carbon steel for machine structure
@ | Bushing Dry bearing & 1 Lock piston Stainless steel ‘
Rod packing hold-down plate| Cold rolled steel @ | Lock cover Aluminium alloy
® | Magnet - @ | Lock spring Piano wire
@0 | Piston washer Cold rolled stee! @ | Lock packing Nitryl rubber
@ | Washer Cold rolled steet @) | Bushing Dry bearing
@ | Piston packing Nitryl rubber @ | Hexegon socket head bolt | Steel
@ | Rod packing Nitryl rubber

KURODA




AIR CYLINDER/WITH LOCK MECHANISM J1OL series

DIMENSIONS
Basic type

(Unit ; mm)

Rod side lock

Basic type

$20,25  $32,40 Boss cut type Axial port position

o o or- -
. ZE+Slroke , K \5_] Roe
XG+Stroke
A | WF YX PX+Stroke
VE] 2-Rcik
_h| B M3x0.5 EX
W {Manual operating port)
il § e
MVE R i e ——— o IR ewl L)
KK/ L | N
Rod end nut MB/
Width across flats B J | H+Stroke IK L E
LF+Stroke
Nose nut
Width across flats Bz
Head side lock
Basic type LR ] .
P CD Boss cut type Axial port position
i f g
R\ &l 3]
ZE+Stroke

1
XG+Stroke ‘ J ' Jﬁ \M

A | WEYP PX--Stroke
VE 2-Bcla

LA R M3x0.6 EK
{Manual operating port} . m
| laly =] : BT
MM} e - Ew] :KB) £ 1 E
Rod end nut ﬁ//h;l’e L] AN

Width across flats B K| H+Stroke J L

Nose nut LF+Stroke
Width across flats Be

m

Bore A |B1|B2| ¢ |D|E|eJ|EkK|EL|ET| BWW |FP| H
$20 |20(20}| 13 | 30 | ¢ 8"°| 8 |¢28|315(125|13 [185]|16 91| ¢22| 31
$25 122(22)| 17 | 30 | ¢ 8™| 8 |481|34 |125/145(195(16 51| 422| 35
$32 |22{22) | 19 | 82 | $10M9| 10 | ¢38]405(18 |18 [22.5/16 2911 24| 40

—0.3
$40 | 24{24) | 22 | 41 | 41219} 12 | 44848 |18 |22 |26 |20 01| 430| 42

J K KK L
24. (14 |M 8X1.25| 12
24.51145|M10x1.5 | 12
30 |15 |M12X1.25| 14
30 |15 [M14x1.5 | 16

O NI T

Bore | LF | LR MB MM[IMR| PX|RH | VF |WF|XG|YX|YP|ZE
$20 | 69 |R11| M22x1.5 ¢ 8|R12|50 i6(13)| 24 (105 | 12 | 7 115
$25 | 74 [R11| M22X1.5 | ¢ 10{ R12 | 545 18(16)| 28 | 114 | 12 | 7.5 | 124
$32 | B5 |R13| M24x2 | ¢12|Ri4|62.5 20(18)| 30 128 | 15 | 7.5 | 141
$40 | 87 |R15| M30X2 |¢14|R16 |645| 9 |22¢18)| 32 |135] 15 | 7.5 | 147

{Note} «Bracketed figures in size A and VF columns are thread lengths.
*For other mounting bracket, refer to J1 cylinder.

o |~i~

KURODA




79

AIR CYLINDER/WITH LOCK MECHANISM J1OL series

DIMENSIONS
Cover mount type

(Unit : mm)
Botterm mounting
$ 20,25 $32,40
=i %jto
A Z)+4-Stroke
2-5B FZ PX+Stroke Axial port position
2-8Q spot facing h [ XIS 2-Bc¥s Max0.5
depth SP } 0.5
(Manual cperating
----------- @} part s —
@3 TQ[UJ MMl L é I o % FP|
=i KK/ | ]
e | | S
LH Rod end nut W, JE H+Stroke J e
Width across flats B+ ' ‘
LM
LE
)
Front mounting
¢ 20, 25 $32,40
f=—{o %:Th) ZL+Stroke
A |WC YK PX+Stroke
2-pJ i 2Rk Max0.5 Axial port position
{Manual operating
— rl_rl par) me
D) N [ B VB £ & T 1 P
KK/
2-AB l\g J&,\M
Rod end nut
Width across flats B viLG H+Stroke J
-
% : Cover mount : Provided only for head side lock,
Bore A AB B B1 | D |FP|FZ| G| H h J | JE KK LE | LH | LM | MM
$#20 |20(20) |¢5.5| 4208 | 13 B8 | 422|123 |20 {31 | 5 {24 (30 M 8X1.25{ 28 | 14 [215|¢ 8
$25 | 22(22) (455 g22f8 | 17 8 |¢$22|255|225| 35 | 6 {24.5|325/MIOX1.5 | 34 | 17 |27.5]| ¢10
$32 | 22(22) |46.6| 2488 19 | 10 | $24|28 |23 | 40 | 7 [30 |35 |M12x1.25| 40 | 20 |31.4| 412
¢40 |24(24) |49 | 288 | 22 | 12 | $30(30 |25 42 8 |30 (37 |Mi4X15 | 48 | 24 |137.2| 414
Bore PJ PX | SB SP| 8Q | TQO|UH | W [ VH| VI | W |WC| X8| YK|ZL
$20 | M6X0.8 |50 |¢ 66| 65| ¢11 20 1034 | 34 [[J24| 10 8] 18 | 18 |13 93
$25 | M5X0.8 |545!0¢ 66| 65| 411 24 |[]38] 38 |028| 10 | 10 | 20 | 20 |15.5| 102
#32 | MBX1 62.5)¢ 9 86| 414 30 10146 46 |(O36| 12 | 10| 22 | 22 |16 | 115
¢#40 | MBX1.25 |84.5] ¢ 11 10.8| ¢17.5| 36 ([156| 58 [(042| 12 | 10 | 22 | 22 |18 [119
{Note) Bracketed figures in size A columns are thread lengths.

KURODA





